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1 2021.5 I EREFDIVERERAT 25 /

2 2021.5 PMATUEIEE / 1.229

3 20216 I EREFSDIVERBIRAT / 7.902
4 ' I INHREXAETEIREERAS 0.05 /

5 2021.7 I REAEERFRAT 300 /

6 [ IREFERV EFBR A E) 25 /

7 20218 I EREFDIVEREIRAT 3 /

8 [ IREFERV EFBR A E) 3 /

9 I EREFDIVEREIRAT 35 /
10 2021.9 I HRERASRERBIRAF 10 /
11 2021.9 I EREFDIVEREIRAT 2 /
12 [ IREFER EFRBRAE 2 /
13 202110 I hireXE=EATERAT 4.5472 /
14 I IRERFSDIVERAEIRAE] 2 /
15 I EREFDIVEREIRAT] 112 /
16 I IRERFSDIVERAEIRAE] 4.5 /
17 2021.11 I EREFDIVERERAT 0.2 /
18 I IREFSDIVEREIRAE] 33 /
19 1) hireXE=EATERAT 400 /
20 L e XEEATHERAT 200 /
21 202112 I IRESIREREEIRAT] 5 /
22 I N ERFHEEEIRAE 45 /
23 I EREFLIVEREIRAT] 2.4 /




